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#FH#-T 5 BASIC #2358 # {7 print 0 % 8
Fori=1To5
Forj=1To(2*1-1)
Print «“ * 7 ;
Next j
Print
Next 1

Fori=4To 1 Step— 1
Forj=1To(2*1-1)
Print < * *;

Next j
Print
Next i
2. ##-T 5 BASIC s MAIN 4%;% ¢ 3 {7 print (0% % 8 1
Function f(n as integer) As Long
Ifn >0 Then
f=n*f(n-1)
Else
f=1
End if



End Function
Sub Main( )

End Sub

Print “ the result is 7, f(4)
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% BASIC 423" # 4 {7 print el % & )
d = Array(13,15,3,17,7,11,9,17,99)
Fori=0to 7

Forj=1+1to8

Ifd(i)<d(j) Then
temp=d(1):d(I1)=d(j):d(j)=temp
End if
Next j
Next 1
Fori=0to 8
Printd( 1)

Next 1



